PART PART _
NAME CABLE BRACKET No. CM-1223
MATERIAL: 14 GA. STEEL SUPPLIED WITH:
QTY. @) #10-32 x 5/8 LG, SCREWS
FINISH  SMOOTH BLACK QTY. (@) #12-24 x 1/2 LG. SCREWS
QTY. (@) #12-24 CLIP NUTS
3,750
1,250
3125 - (250 0625 —= |=—
0625 TYP, 0.250
$ 4y
00000 (2% f o
| 0875 ? 1750 ! 1250
00000 | —
0125 x 0.312 OBLONG —/ 0.125 REF. \— 0250 x 1,000 OBLONG
(12> HOLES @) HOLES
Tt PANEL EXTENDER FoRT PE-1600 TO PE-1605
MATERIAL: 14 GA. STEEL SUPPLIED WITH:

FINISH: SMOOTH BLACK

QTY. (8) #12-24 x 1/2 LG SCREWS
QTY. (4) #12-24 CLIP NUTS

' 5,000 ' d
| | 0
Q
U H 0.750 0
_ o 2
g o
0234 —; 0.250 " "
. o 0
O 2
0625 | 0 0
O M °
0625 I o o
O | o
0.500 | 2 0
o I \0
2
O o/
, (O HOLES DN EIA O |
UNIVERSAL SPACING = B O |
|
|
O |
050 | < |
0625 !
ON
0625 |
Q|
0234 N . 0281 DIA
(D) HOLES
PART No. DINENSION “A DIVENSION 5" Ty, T A
PE-1600 3468 3000 @ )
PE-1601 5218 4750 @ s
PE-1602 6,968 6500 i) @D
PE-1603 8718 8250 i) Q0
PE-1604 10468 10,000 as) 36
PE-1605 12218 11750 @D @2




